Agroparts: www.HARDI-INTERNATIONAL.com Page 1
V-deflector, K303-HIA, 10:04:92 Date 11.07.2016 15:13
parts-n° order description
gty
169041 R.SIDE V-DEFLECTOR W/SLIDEV.
169042 L.SIDE V-DEFLECTOR W/SLIDEV.
421046 BOLT HEX 8.8 DEL M8X25 FT A2 DIN933
421251 BOLT HEX M8X15
460143 NUT HEX M8 LOCK A2 DIN985
460364 NUT HEX M8 GALV.
471074 WASHER M8 ELZ
471075 WASHER M8 LOCK
619083 619083
619084 619084
619085 619085

834813

V-DEFLECTOR FOR LE




